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26.

27.

28.

29.

30.

31.

32.

Fill in the blank with the correct option.

Only of these apples are good.
(1) many (2) every
(3) afew (4) alittle

Complete the following sentence by
choosing the correct answer from the
given options :

He gave me thousand-rupee note.
(1) the 2) a
(3) an (4) no article

Select the appropriate preposition to fill
the blank in the following sentence :

I bought this book fifty rupees.
(1) with (2) at -
(3) for (4) from

Choose the most appropriate English

translation for the given sentence :

T AT T ST B 2

(1) This question what answer will be ?

(2) What will be the answer to this
question ?

(3) What answer to this questions ?

- (4) What answer will this question be

of 7

Choose the correct Hindi translation of

the given sentence :

At last he realized his mistakes.

(1) Tfex & 3 a8 Aot Twei |

(2) SEH @R THE T TE
AT =R el & |

3) %qﬁazm IGH AT TeAaar G

E |
(4) STRER = 57 ST T i et = E |

From the given options, select the verb
that agrees with the subject in the
following sentence :

Two and two four.
(1) made (2) make
(3) makes (4) making

Choose the correct word to complete
the sentence.

We must leave early _____ we won’t
get a good seat.

(1) however (2) moreover

(3) otherwise (4) unless

33.

34.

35.

36.

D

38.

39.

40.

What is “3Te0T 9= called in English ?
(1) Endorsement Letter

(2) Official Letter

(3) Demi-Official Letter

(4) Covering Letter

What is ‘On Probation’ called in Hindi ?
(1) iR =

(2) UREteT

(3) wfarfae

(4) V= BT

What is the synonym of the word
‘amiable’ ? _

(1) aloof (2) friendly

(3) jealous - (4) beautiful

Which of the following options is
opposite in meaning to the given word ?
Give

(1) put (2) have

(3) handle (4) receive

Select the correct prefix to add to the
underlined word in the context of the
given sentence :

You honour Shyam by calling
him a terrorist.

(1) un- (2) mis—

(3) dis— 4) ill-
Substitute one word for

“uncontrollable urge to steal.”
(1) Pyromania (2) Cheating
(3) Kleptomania (4) Robbing

In which of the following words ‘al’ is
not used as suffix ?

(1) Disposal (2) Renewal

(3) Reversal (4) Loyal

Fill in the blank with the appropriate
word from the given options :

I like to television in the evening.
(1) see (2) look
(3) watch (4) observe
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Read the given passage carefully and answer

question no. 41 and 42 :

Then there are simple folks who are
forever eating and drinking in railway
carriages. No sooner are they settled in their
seats than they are passing each other
tattered sandwiches and mournful scraps of
pastry and talking with their mouthsfull and
scattering crumbs over the trousers of
fastidious old gentleman. Sometimes they
will peel and eat bananas with such rapidity
that nervous onlookers are compelled to seek
another compartment.

41. What is the first thing, which some
folks do, no sooner they settle in a
railway carriage ?

(1) They start passing each other

sandwiches and pastries.

(2) They start being nostalgic.

(3) They start annoying children.

(4) They start looking for space in

other compartments.

42. What is the meaning of the word
‘rapidity’ used in the passage ?
(1) Hungrily (2) Quickly
(3) Eagerly (4) Voraciously

43. Which of the following is NOT a part
of a notice ?
(1) Salutation
(2) Heading
(3) Date and Time
(4) Contact person/address

44, What'is “subscription” in a letter ?
(1) Subject
(2) Reference
(3) Address
(4) Courteous leave taking

45. A written document inviting potential
and qualified suppliers of goods and
services on certain  conditions
pertaining to price, period, quality,
delivery etc. is a
(1) Circular
(2) Notice
(3) Demi-Official letter
(4) Tender
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46.

47.

48.

49,

50.

(4) Alas, I were a beauty queen !

Fill in the blank with the appropriate
form of the tense/tense sequence.
By the time he returned, I ten
pages of my report.

(1) typed

(2) typing

(3) had typed

(4) would have been typing

Choose the correct tense from the
options given below to fill in the blank
in the given sentence.

It when I got up.

(1) isn’t (2) wasn’t raining
(3) wasnotrain (4) notraining

From the given options, select the

correct passive form of the sentence

given below :

No one has climbed this mountain before.

(1) This mountain was not climbed
before.

(2) This mountain has not been
climbed by no one before.

(3) This mountain has not been
climbed before.

(4) This mountain was climbed by no
one before.

Choose the correct Direct form for the

given Indirect sentence :

The policeman asked if I had seen the

accident.

(1) “Had you seen it ?” the policeman
said.

(2) “If you had seen the accident ?”
the policeman asked.

(3) “Did you see the accident ?” the
policeman asked.

(4) “Does you see the accident ?” the
policeman said.

O that I were a beauty queen !

Transform the sentence into an

assertive sentence by choosing the

most appropriate option.

(1) Why would I not want to be a
beauty queen ?

(2) IwishI were a beauty queen.

(3) I am not so beautiful to become a
beauty queen.



51.

52.

53.

54.

55,

56.
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52.

5 B

54.

55.

56.

In Rajasthan, the Vindhyan scarp-land
area is formed by which type of rocks ?
(1) Granite (2) Quartzite

(3) Sandstone (4) Basalt

The Chappan plain extends in which of
the following districts of Rajasthan ?

(1) Kota - Baran

(2) Jalore — Pali

(3) Jaisalmer — Barmer

(4) Banswara — Dungarpur

In summer, the temperature of Mt.

Abu remains lower as compared to the

other places of Rajasthan, because

(1) The distance of Mt. Abu from sea
coast is maximum in Rajasthan.

(2) The impact of monsoon winds is
greater in Mt. Abu.

(3) Mt. Abu is situated at higher
altitude.

(4) The atmospheric pressure at Mt.
Abu is less.

Who among the following Governors of

Rajasthan had resigned from his post ?
(1) Joginder Singh

(2) Bali Ram Bhagat

(3) Madan Lal Khurana

(4) Anshuman Singh

Who among the following has never
been the Chief Minister of Rajasthan ?

(1) Heera Lal Devpura
(2) C.S. Venkatachari
(3) Gokul Lal Asawa
(4) Barkatullah Khan

How many women members are
elected in the 14" Rajasthan
Legislative Assembly from the seats
reserved for Scheduled Tribes ?
(1 2 (2) 3
3) 5 4) 6
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60.

61.

62.

63.
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58.
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60.

61.

62.

63.

Presently, who among the following is
serving as the Lokayukta of Rajasthan ?
(1) S.S. Kothari

(2) Ram Lubhaya

(3) R.N. Mathur

(4) Manoj Kumar Vyas

‘Astha Scheme’ is related to

(1) differently abled persons
(2) students of scheduled castes
(3) women of tribal areas

(4) residents of slums

Chandmari Copper Project is functioning
in which district of Rajasthan ?

(1) Dausa (2) Jhunjhunu

(3) Chittorgarh (4) Pali

National Research Centre on Seed
Spices is situated at

(1) Tabiji, Ajmer

(2) Lalgarh, Bikaner

(3) Sewar, Bharatpur

(4) Durgapura, Jaipur

The largest contributing sector in the
Gross State Domestic Product (GSDP)
of Rajasthan is

(1) Agriculture sector

(2) Industry sector

(3) Service sector

(4) Industry and Mining sector

In  which Industrial Region of
Rajasthan, there is a dedicated zone for
South Korean companies ?

(1) RIICO Industrial Area, Bhiwadi
(2) Ghilot Industrial Area, Alwar

(3) RIICO Industrial Area, Prahladpura
(4) Ratan Industrial Area, Kishangarh

In which of the following cities, the
first Commercial Court and
Commercial  Dispute  Resolution
Centre is recently established ?

(1) Jaipur in Rajasthan

(2) Chennai in Tamil Nadu

(3) Raipur in Chhattisgarh

(4) Bhubaneswar in Odisha
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65.
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68.

Match List — I with List — II and select
the correct answer from the codes

given below :
List-1 List - II
Padma Vibhushan Field
Recipients — 2016
a. Viswanathan Shanta i. Public Affairs

b. Avinash Dixit
c. Jagmohan

ii. Literature
iii, Science and
engineering
d. Vasudev Atre iv. Medicine
Codes :
a b c d
1) i i iv
2) iv i i iii
3) iii i iv i
4) i i1 iv

Rajasthan International Folk Festival

2016 is to be held at :
(1) Jaisalmer (2) Udaipur
(3) Jaipur (4) Jodhpur

Elie Wiesel, the Nobel Prize winner of
1986 for peace, who died recently, was
citizen of which of the following
country ?

(1) Poland

(2) Romania

(3) Germany

(4) United States of America

In which tournament, Indian Men’s
Hockey team won the Silver medal in
June 2016 ?

(1) Azlan Shah Cup
(2) World Cup

(3) Champions Trophy
(4) Euro Cup

After winning Womans’ Single title of
Wimbledon Tennis Tournament 2016,
Serena Williams equalled record of 22
Grand Slam title of which of the
following woman player ?
(1) Margaret Court
(2) Steffi Graf
(3) Martina Hingis
(4) Martina Navratilova
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70.

71.

72.

73.

74.

.
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69.

70.
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74.

75.

Which amongst the followings is an
incorrect pair ?

(Ancient Region) (Modern District/s)
(1) MatsyaDesh - Alwar and
- Bharatpur
(2) Jangal Desh — Bikaner
(3) Shivi —  Chittorgarh
(4) ArbudDesh - Jalore

Where the temple of Ranganath built
by Seth Puranmal in 1844 A.D. and
renowned for its Gopuram design is
situated ?

(1) Pushkar
(3) Karauli

(2) Nathdwara
(4) Abu Road

Which of the following is the main
female character of “Bisaldev Raso” ?
(1) Indumati (2) Rajmati

(3) Padmini (4) Deval Devi

The district in which the Samadhi of
folk deity Ramdev is situated

(1) Jodhpur (2) Barmer

(3) Jaisalmer (4) Bikaner

In which district of Rajasthan, the -
temple of ‘Eklingji’ is situated ?

(1) Udaipur (2) Jaisalmer

(3) Ajmer  (4) Rajsamand

Which of the following statements

about Jai Narayan Vyas is incorrect ?

(1) He was an active member of
Marwar Lok Parishad.

(2) He was the editor of
Rajasthan’.

(3) He lost his first assembly election
in 1951.

(4) He served as the Chief Minister of
Rajasthan three times.

‘Tarun

According to 2011 Census data, the
literacy rate of Rajasthan is

(1) 74.04% (2) 66.11%

3 71.31% (4) 64.55%



76.

7.

78.

79.
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81.
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76.

77,

78.

79.

80.

81.

A ray of light passes from medium X
to another medium Y. If no refraction
occurs then the angle between incident
light and surface of medium Y should
be

(1) 120°
(3) 45°

(2) 90°
@ 0°

Which of the following is an example
of an active sensor used in remote
sensing ?

(1) Radar

(2) Satellite Photography

(3) Radiometer

(4) Charge-coupled devices

Deficiency of protein leads to
(1) Rickets (2) Scurvy
(3) Kwashiorkor (4) Carotenemia

‘Sonalika’ and ‘Malvika’ are the
improved varieties of which of the
following crop ?
(1) Maize
(3) Gram

(2) Rice
(4) Wheat

Which of the following is a physical
change ?

(1) Photosynthesis

(2) Burning of coal

(3) Melting of ice

(4) Digestion of food

Antibodies in plasma of blood group
AB is/are

(D
()
©)
@

anti-B only

anti-A only

anti-A and anti-B both
Neither anti-A nor anti-B

o1



82.

83.

84.

8s.

86.

87.

01

“IRArT TR % S 39 &9
(1) ™1 gHaR (2) TRe faET
() . I FAR  (4) | M

AT e S WWWW
TENE U B & (R — A),
SRR o7 & &9 8 STert € (TRawd — B),

eI HE T TG PINT :
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(1) et (2) ==Y
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(1) st

(2) W SR

(3) T TR-IAFIRE

(4) FAR-FARN-FTEA

11

82.

83.

84.

85.

86.

8%

Who is known as the ‘Father of Indian
Ecology’ ?

(1) Raman Sukumar

(2) Ramdeo Mishra

(3) M. Sarath Kumar

(4) Madhav Gadgil

Anaerobic bacteria digest animal waste
and produce biogas (change — A).

The biogas- is then burnt as fuel
(change — B).

Choose the correct statement :

(1) Process-A is a chemical change

and Process-B is physical change.
Process-A is a physical change
and Process-B is chemical
change.

Both the Processes A & B are
chemical changes.

Both the Processes A & B are
physical changes.

2
3
4)

Lycopene pigment is found in which
of the following fruit or vegetable ?

(1) Corn (2) Blackberries
(3) Tomato (4) Spinach
The rearing of silkworms for

production of raw silk is known as :
(1) Apiculture (2)  Sericulture
(3) Agriculture  (4) Floriculture

Which test is used for confirmation of
typhoid fever ?

(1) Coomb’s test

(2) Widal test

(3) Mantoux test

(4) Kastle-Meyer test

Which greenhouse gas, other than
methane, is produced by agricultural
fields ?

(1) Ammonia

(2) Nitrous oxide

(3) Sulphur dioxide

(4) Chloro-fluoro-carbon
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88. In the colony of honeybees, worker are :

(1) Sterile female (2) Sterile male
(3) Fertile female (4) Fertile male

Cause of ‘Down’s syndrome’ in

humans is

(1) presence of an additional copy of
the chromosome number ‘21’

(2) absence of chromosome number 21’

(3) presence of an additional copy of
the ‘X’ chromosome

(4) absence of ‘X’ chromosome

Which of the following is not true

about organic manure ?

(1) It enhances water
capacity of soil.

It is obtained only from animal
matter.

It provides humus to soil.

It improves the texture of soil.

holding
(2)

(3)
“

Which of the following is known as
Natures ploughman ?

(1) Neries (2) Cattle Leech
(3) Earthworm (4) Polygordius

First vaccine was developed by
(1) Louis Pasteur

(2) Edward Jenner

(3) Karl Landsteiner

(4) Joseph Miester

A scientist wants to study the virus of
a plant suffering from a viral disease;
which of the following plant part
should be excluded ?

(1) Pith (2) Shoot Apex
(3) Phloem (4) Cortex

01
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T i

YIE & Ui &

(1) STt SierdteRoT Sifafemar
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(1) et % 9e-3¥9 3o % fog

(2) J=F T
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The process of respiration is

(1) an oxidation reaction which is
exothermic '

(2) an oxidation reaction which is
endothermic

(3) a reduction reaction which is
exothermic

(4) a reduction
endothermic

The Compressed Natural Gas (CNG)
mainly consists of
(1) Butane

(3) Methane

reaction which is

(2) Ethane
(4) Propane

Convex mirror is used for

(1) Rear-view mirror in vehicles
(2) Torches

(3) Vehicle’s headlight

(4) Shaving mirror

The primary ore of Mercury (Hg)
metal is

(1) Rock salt
(3) Calamine

(2) Cinnabar
(4) Haematite

Which of the following non-metals is a
liquid at room temperature ?

(1) Carbon (2) Sulphur
(3) Bromine (4) Iodine
If two plane mirrors are kept

perpendicular to each other, then the
number of images of an object placed
between them will be

(1) 2 (2) 3
3) 4 (4) infinite

The commercial unit of electrical
energy is

(1) Watt (2) Watt-hour
(3) Kilowatt-hour (4) Kilo-joule
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T TR R 19 T R & Sl e o &
o THT R & 1 W e dife i TR

3 fiyerar s fop ffire g ol | 15 T
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(1) 19:9 ) 9:19

(3) 258 4) 3:2

23,30, 57 3T 78 # | B G T TS
w7 fF S SEETd TR e ?

(1) 4 2 5

(3) 6 “4) 7

X = YZamaw Y iR Z v |
37 o A 20% i HH 8 S & A
X % o # e e wfaera € 2
(1) 36% (2) 40%
(3) 60% @) 25%

wF SR € 10 F 11 At W R R
Hiafadt e & aar 3% 3 11 &t 10
st ®f & ¥ SO € | IEH ™
vifeere H T € 2
(1) 10%
3) 9%

2) 11%
4 21%

T THAER S TER B AT H 2 1 3 F
T 7 fremmer & e fR S % 22 Wi
fEom SR @ IEH 10% AT BT § | A
T T ST HeT & e 14 Wi o a
st AT el AeT @ 9w
FAE?
(1), 23
(3) %25

(2 324
4) 321
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Gold is 19 times heavier than water
and copper is 9 times heavier than
water. In which ratio gold and copper
should be mixed so that mixed metal
(alloy) is 15 times heavier than water ?
(1) 19:9 (2) 9:19

3) 243 4 3:2

Which number should be subtracted
from 23, 30, 57 and 78 so that
remaining numbers are in proportion ?
() 4 2) 5

(3) 6 @ 7

If X = YZ and if each of Y and Z
decreases by 20% of their original

values, then what is the percentage
decrease in X ?

1) 36%
3) 60%

(2) 40%
@) 25%

A person buys candles at the rate of 11
candles in ¥ 10 and sell them at the
rate of 10 candles in ¥ 11. What is his
profit in percentage ?

(1) 10% 2) 11%

3) 9% @ 21%

A shopkeeper mixes two types of
Maida in the ratio of 2 : 3. He gets 10%
profit by selling it in ¥ 22 per kg. If rate
of maida having less quantity is ¥ 14
per kg then what is the rate of maida
having more quantity (in per kg) ?

(1) 23 2) T24

(3) ¥25 4 21

01
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T 2,600 3 9T A =T W R T | afe
5% A% 3T & 3 o ¥ uger wnT @
WYROT =11, 4% =i 3T/ 6 98 o g
ST % YR AT % SRR &, GeRT
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(1) % 1,600
(3) % 1,000

(2) % 1,300
(4) %800

5% Wid a9 =shgly AT ST auT A

Y W T T FeT 49 F n T A

RIT ST BT 2
(1) (22)": en*
3) o™ en”

2) @2D":0)"
(4) (22)": (20)"

600 Tt =t weh SeH , uer ferr ot wifey
F TE WO F HROT #R R T |
TR ST ia § 200 e F o
§E T I FA 30 Fe @ W |
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(1) 1ger (2) 24
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A ¥ THF GHT ) T R F <o e
€ 3R fog B W w9 o vg= ¥ <t
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(1) 100 feedar  (2) IIIOWKETH

(3) 120 fweiEier  (4) 130 feeiyeer
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(3) 3 hours

109.

¥ 2,600 were given on interest in two
parts. If simple interest of first part in
3 years with 5% interest rate is equal
to simple interest of second part in 6
years with 4% interest rate. What is
the second part ?
(1) 1,600

(3) ¥ 1,000

(2) 1,300
(4) 800

At 5% compound interest rate per
annum compounded annually what
will be the ratio of principal amount
and total amount after n years ?

1) @":2D" 2@ QD":o)"
G) 202" @ 22)": (20"

In a flight of 600 km, an aircraft was
slowed down due to bad weather. Its
average speed was reduced by
200 km/hr and time of flight increased
by 30 minutes. The original duration
of the flight was :

(1) 1 hour (2) 2 hours

(4) 4 hours

A train travel with an average speed
50% faster than a car. Both start from
point A at the same time in same
direction and reach at point B at the
same time, which is 75 kms away from
A. On the way, train stopped at the
stations for 12.5 minutes. The speed of

the car is
(1) 100 kmph (2) 110 kmph
(3) 120 kmph (4) 130 kmph
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(1) 10/3 %
(3) 21/5%

(2) 24/5 %
4 5%
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Mr. X is travelling on his cycle to
If he travels at
10 kmph, then he will reach at 2 pm. If
he travels at 15 kmph, then he will

reach point A.

reach at 12 noon. At what speed must
he travel to reach point A at 1 pm ?

(1) 13 kmph
(3) 12 kmph

(2) 11 kmph
(4) 14 kmph

To complete some work, A takes half
time than B. C completes same work
in same time in which both A and B
complete together. If all three together
complete this work in 7 days, then in
how much days will C complete this

work alone ?
(1) 14 days (2) 42 days
(3) 21 days (4) 35 days

There is 80% increase in an amount in
8 years at simple interest. What will be
the compound interest of ¥ 14,000
after 3 years at the same interest rate
per annum compounded annually ?

(1) T4,634 2) ¥3,714
(3) ¥3,794 4) 4,612
Some water has 4% sugar. If 1 litre
water evaporates from 6 litre water.

Then what is the percentage of sugar
in remaining water ? '

(1) 103 %
(3) 21/5%

2) 24/5 %
4 5%

o1
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What will be the least number of
complete years in which an amount
will be more than doubled at 20%
compound interest per annum ?

(1 3 (2) 4
3) 5 4) 6

Mr. X thinks that his weight is greater
than 65 kg but less than 72 kg. His
brother thinks that- X’s weight is
greater than 60 kg but less than 70 kg.
His mother thinks that his weight
cannot be greater than 68 kg. Which of
the following is the probable weight of
X so that estimation of all of them is
correct ?

(1) 70kg (2) 67kg
(3) 69kg (4) 68kg
A survey of 900 people was carried

out regarding their preference of
various channels. The result is shown
on the following Pie-chart. If 50% of
the surveyed persons were below 40
years age, what is the number of
persons who are above 40 years and

prefer DD National ?

DD
National

40%

(1) 20
(2) 180

(3) 225

(4) Not possible to calculate
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15,17, 16,7, 10, 12, 14, 16, 19, 12 T4
16 Pt HITEEHT TE T SHART: #

(1) 15,14

(2) 15,16

(3) 16,14

4) 16,18

x ¥ fpg oW ¥ Froafafea sfiswst &
w278 ?

25, 26,27, 23, 26, 24, x,217, 26, 25, 25,27
(1) 24 (2) 25
(3) 27 4) 26

T THFFER 7 12 fet # T 504w |
7o 4 ot 9 ol s T 40 @ 1 AW

et % fordh st ol o &
(1) 40 ) IHN
3) T42 4) 743

T ST HIEA I SRR K &
(1) 3 (wTiea! — =)
(2) 2 (efems — )
(3) 3 (WA - TETTH)
(4) 2 (Sger — A
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120.

117. The median and mean of 15, 17, 16, 7,

10, 12, 14, 16, 19, 12 and 16 are
respectively
(1) 15,14
(2) 15,16
3) 16,14
4) 16,18

For what value of x, the mode of the

following data is 27 ?
25,26, 27,23, 26,24, x,27, 26,25,25,27
(1) 24 @) 25

3) 27 (4) 26

A shopkeeper earned ¥ 504 in 12 days.
His average income for the first 4 days
was T 40. His average income for the

remaining days is
(1) T40 2) T41

(3) T42 (4) T43

Difference of mode and mean is equal

to

- (1) 3 (Median — Mean)

(2) 2 (Median — Mean)
(3) 3 (Mean — Mode)
(4) 2 (Mode — Mean)

ol
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[(6379)' x (625)°17 x (314)¥Y =1
TS S T 2
(1 0
(3) 2

2) 1
“4) 5

frt & @ B < TR demt s Fa
qE?

()
2)
3)
@)

17/19, 11/14, 16/21
16/21, 11/14, 17/19
11/14, 17/19, 16/21
17/19, 16/21, 11/14

T W& 517*324, 3 9 fopfra et &t
@ At B W ol 3w E S 2 F W
3 2

(1) 0 @) 1
(3) 2 4 3
Te T 37! Bt §&T 4p3 § 984 et 1

TF R 3l =t GE&@T 13q7 Wi gt € |
AT 1397, 11 AT 8§, W (p+q)=?

(1) 10
(3) 12

2 11
@ 15

7% + 439) &lix @77 + 43%7) T Py
H ¥ $ 91 SRS TorEvs ¥ 9

(1) (47-43)

(2) (47 +43)

(3) (47" +43%)

4) 47*+43%
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What is the digit at unit place ?
[(6374)17%3 x (625)*17 x (314)Y
(1) 0 @) 1

(3) 2 4 5

Which of the following rational
numbers are in ascending order ?

(1) 17719, 11/14, 16/21
(2) 16/21,11/14,17/19
(3) 11/14,17/19, 16/21
4) 17/19,16/21, 11/14

If the number 517%324 is divisible by
3, then which whole number will be in
the place of * ?

(1) 0
(3) 2

2) 1
4) 3

A 3-digit number 4p3 is added to 984
to get a 4-digit number 13q7. If 13q7
is divisible by 11, then (p + q) = ?
M1 @1

3) 12 4) 15

Which one of the following is the
common factor of (47* + 43%) and
@7% +43%) 9

(1) (47 -43)

(2) (47 +43)

(3) @71*+43%)

4) (47*+43%
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In context of MS-Word let a letter of
common contents is to be sent to 100
recipients. If address of individual
recipient is to be added in each letter,
we will use

(1) Embedding

(2) Mail-Merge

(3) Letters Code

(4) Hyperlink

GUI stands for

(1) Graph Use Interface

(2) Graphical Universal Interface
(3) Graphical User Interface

(4) Graphical Unique Interface

In MS Word-2010 watermark option is
found in

(1) Insert tab — Illustration group

(2) Insert tab — Links group

Page layout tab — Page
background group '

Page layout tab — Themes group

(4)

You can activate a ‘cell’ in MS-Excel
by :

(1) Pressing the Tab Key

(2)  Clicking the Cell

(3) Pressing an Arrow Key

(4) All of these

In MS-PowerPoint, multiple slides per
page are printed using option.

(1) Slides
(3) Hand outs

(2) Notes pages
(4) Outline

When a new MS-PowerPoint
presentation is opened, tabs available
on left panel are :

(1) Slides and Notes

(2) Slides and Outline

(3) Outline and Notes

(4) Slides, Outline and Notes

01
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S § T g draRuiEve o & e

YiEHe Foit & ¢ ee el st & 9
(1) Ctrl+S (2) Ctrl+N
3) Ctrl+M 4) Cul+V

TH.OH, Tl § AT Al § 9T AL0 &7
ﬁﬂaﬂﬁ%fﬁt‘.’?ﬁ%:

(1) =SUM(A1:A10)

(2) #Add(Al to A10)

(3) =SUM (Al to A10)

(4) =SUM Al:SUM A10

TIUE. TRA ¥ §T 0w’ § I
sFEeTal sran SfrEt @ &Y W Y
FEACT & |

(1) =St (2) = ufar

(3) oI TE (4) wite o
FHIE W =S e Y At
Rt % fore, wpe (s =t e
e MS-Excel $RH &

(1) DDB

(2) ACCRINTM

(3) INT_ACCRUED
(4) MINTACCR

ﬁwﬁ@ﬂqwéamm@.@ia

H O 7 e & 0
(1) Number (2) Character
(3) Label (4) Date/Time

FH & G §, DVD 7 ard &
(1) fefsieer afewer fem
(2) fefees difeat grer
3) fefree adees foe
(4) Fefseet diegm feamew
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In  currently open PowerPoint
presentation, a new slide is inserted
using shortcut key

(1) Ctul+S (2) Cul+N

3) Ctri+M 4) Cul+V
Formula for addition of cell Al to cell
A10 in MS-Excel is

(1) =SUM(A1:A10)

(2) #Add(Alto A10)

(3) =SUM (Al to A10)

(4) =SUM Al1:SUM A10

Box that identifies the patterns and
colours that are assigned to the data
series or categories in a chart created

in MS-Excel is called '

(1) Legend (2) Chart area
(3) Data label (4) Plot area

MS-Excel function to- return the
accrued interest for a security that pays
interest at maturity is

(1) DDB
(2) ACCRINTM
(3) INT_ACCRUED
(4) MINTACCR

Which of the following is not valid
data type in MS-Excel ?

(1) Number (2) Character
(3) Label (4) Date/Time

In the context of computer, DVD
stands for

(1) Digital Vertical Disk
(2) Digital Video Driver
(3) Digital Versatile Disk
(4) Digital Volume Device
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139.
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141.
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144.

U T § AW F P B UHIT
T FEAT & ?

(1) e Q) g

3) TE (4) ¥

o aTee A Uit % o # v e
J frg W T T T A R ?

(1) URL (2) IRC

(3) NIH (4) HTML
TETE

(1) SRS

(2) &<

(3) W

(4) FeTh IAE TR

STzte T SRR HEiA T Sy A
¥ Frgior ¥ RIH-HRITR TR0 SHeer
&

(1) OTP (3tr2rt)

(2) Password(m?ﬂ'dé).
(3) CAPTCHA (=)
(4) BARCODE (@R&i%)

HTTP &1 acd §

(1) TR SR TAHT WEihiet
(2) TR TS TAE WEH
(3) FEW SRS ZAH WEH
(4) BT RS AR Werhiet

Pt % ST 1 T 9 FER T 2
(1) FEHE TR

(2) WIS FERAET

(3) T o

(4) TS a5 99

£ 3fép % gef § OTP &1 A &
(1) &9 g ITHeTs

(2) oA

(3) et SR et

(4) = <TEH Wit
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139.

140.

141.

142.

143.

144,

What is the intersection of a column
and row on a worksheet called ?

(1) Column (2) Value
(3) Address (4) Cell

Generally, which language is used to
construct World Wide Web pages ?

(1) URL (2) IRC
(3) NIH (4) HTML

The Internet is

(1) Website

(2) Host

(3) Server

(4) Network of Networks

Challenge-Response test used on
internet to verify that user is human
and not a machine, is called

(1) OTP

(2) Password
(3) CAPTCHA
(4) BARCODE

HTTP stands for

(1) Hyper Text Transfer Protocol
(2) Hyper Tool Transfer Process

(3) Hyper Text Transfer Process

(4) High Text Transfer Protocol

Which of the following is not a web
browser ?

(1) Internet Explorer

(2) Mozilla Firefox

(3) Google Chrome

(4) World Wide Web

In context of e-banking OTP stands for
(1) Once Through Password

(2) One Time Password

(3) Only Testing Protocol

(4) One time Protocol

01
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01

1 TERe = deme =
fepeitamge.

(1) 1024, 1024 x 1024

(2) 1024 x 1024, 1024

(3) 512,1024

4) 1024, 512

frafafed & @ g feards &1 shaw
g B T8 ?

(1) ®REe W, T, e

(2) OCR, HiHeT, MICR

(3) @R, MICR, T i

(4) OMR, fiex, sweis TeT

USB ui¢ %7 areqd &

(1) Fees diftaer 59 9is
(2) FFHaEe Wi a9 9
(3) et faeeifvraer s aie
(4) gFade ditaer BIos W

FEH & T H, FAT &1 ard &
(1) HiveT R et

(2) HE TR e

(3) TS THAIHIH 2oet

(4) WIS TSI et

MS-Windows ¥ %2, S T U
FHIgH & forg, e fe vidswe Siwat
Ty foRan st €

(1) Ctrl+Z,Ctul + X, Ctrl + V

(2) Cul+V,Ctrl+Z, Ctrl + C

(3) Cul+C,Ctrl+V,Ctrl + X

4) Cul+X,Ctrl+C, Ctrl + V

TH.UH. &, TF ST &
(1) emfeT faes

(2) wrafE fearw

(3) T Wiweaa
4) ¥z fearw
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147.

148.

149.

150.

1 Gigabyte=____ Megabyte =
kilobyte.

(1) 1024, 1024 x 1024

(2) 1024 x 1024, 1024

(3) 512, 1024

(4) 1024,512

Which of the following is a valid set of
input devices ?

(1) Light pen, Scanner, Plotter

(2) OCR, Monitor, MICR

(3) Scanner, MICR, Touch Screen

(4) OMR, Printer, Barcode Reader

USB Port stands for

(1) United Serial Bus Port

(2) Universal Serial Bus Port

(3) Universal Sequential Bus Port
(4) Universal Serial BIOS Port

In context of computers, FAT stands
for

(1) Folder Access Table

(2) File Access Table

(3) File Allocation Table
(4) Folder Allocation Table

For cut, copy and paste commands in
MS-Windows, following shortcut keys
are used respectively :

(1) Ctul+Z,Ctrl + X, Ctrl + V
2) Cul+V,Ctrl+Z, Ctrl + C
(B) Ctrll +C,Ctrl + V, Ctrl + X
4) Cul+X,Cul+C,Ctrl+V

MS Word is an example of
(1) Operating System

(2) Processing Device

(3) Application Software
(4) Input Device
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